ENGINEERED TARPING SOLUTIONS
/_m%vﬁ

3500 Series Electric
Upper Flex Arm Retro-Fit
Instructions

Retro-Fit Kit to be used only on 3500 Systems
that have already been installed

READ BEFORE INSTALLING
PO BOX 713 = 2309 SHUR-LOK STREET = YANKTON, SD 57078-0713

PHONE 1-800-4-SHUR-LOK (1-800-474-8756) = FAX 605-665-0501
www.shurco.com

SHOP ONLINE: www.shopshurco.com



Upper Flex Arm Retro-Fit

ltem Part# Description

1118024  Upper Flex Arm 3500 Retrofit Kit
1703135 Heavy-Duty Motor

1118015 Upper Flex Arm - Motor Side
1703882 Cap Plug w/Hole - 1 1/4”
1700377 Cap Screw - 1/4"x 1 1/2"
1700427 Flat Washer - 1/4”

1110408 Flange Bearing

1701543 Nylon Lock Nut - 1/4”

1701580 Nylon Lock Nut - 3/8”

. 1118020 Coupler - Motor Shaft/Roll Tube
0. 1704267 Cap Screw - 3/8" x 2 3/4”

1. 1117497 Roll Tube Ext. w/Drive Shaft - Sloped

VPN~

STEP 1: Roll tarp closed and let roll tube hang loosely below

latchplate.

FRONT ROLL
TUBE EXTENSION

Flex arms are under tension while torsion springs
are engaged. Use caution while assembling and
disassembling arms. Failure to read and follow
instructions could result in serious injury or death.

STEP 2:

Shut off or disconnect power source. Remove electric
wiring from motor.

ELECTRIC MOTOR

NOTE COLOR OF WIRES
AND WHICH STUD THEY
ARE CONNECTED TO

P/N 1118023 Rev. C

SUPPLIED W/MOTOR

STEP 3: Remove 1/4” x 2 1/4” cap screw, washers and nut

from manual override collar. Discard hardware.

MANUAL OVERRIDE COLLAR

WASHERS

1/4” x 2 1/14”
CAP SCREW

STEP 4:

Remove cap screw and top lock nut from motor and
roll tube extension.

CAP SCREW

ROLL TUBE
EXTENSION

TOP LOCK NUT

1 Shur-Co® HELP LINE: 1-866-748-7435



P/N 1118023 Rev. C

STEP 5: Carefully remove
flex arm and motor
assembly from roll
tube extension.

UPPER FLEX ARM &
MOTOR ASSEMBLY

STEP 6: Remove upper flex arm and motor assembly from flex

arm joint.

STEP 7: Disassemble electric motor and components from up-
per flex arm. Discard manual override collar, existing
upper flex arm and motor mount bracket.

°
FLANGE ¢ o
BEARING © MANUAL
& oo I OVERRIDE
& X COLLAR
7 e
-
ELECTRIC CAP PLUG )
MOTOR

=

STEP 8: Insert wire through new upper flex arm, then thread

BRACKET ON UPPER FLEX
ARM MUST FACE TOWARD ™
OUTSIDE OF TRAILER

NOTE: Cap plug with
hole from old upper flex
arm may be removed
and inserted on lower
flex arm to protect wire
insulation from wear.

ROLL TUBE EXTENSION

UPPER
FLEX ARM
& MOTOR
ASSEMBLY

FLEX ARM JOINT

®

S T MOTOR
N MOUNT
A 2 BRACKET
N ° o P}
«Q
o ” &
o S "
A >
AN s
UPPER FLEX ARM

FLEX ARM
JOINT

Shur-Co® HELP LINE:

Upper Flex Arm Retro-Fit

STEP 9: Install cap plug with slot
on upper flex arm. Leave
about 12” of wire extend-

ing out of flex arm.

UPPER
FLEX ARM

STEP 10: Mount flange bearing to upper flex arm bracket with
114" x 1 1/2” cap screws, washers and nuts. Finger
tighten only to allow for adjustment.

FLANGE
BEARING

UPPER
FLEX ARM
BRACKET

1/4” x 1 1/2”
CAP SCREW

1/4” FLAT
WASHER

1/4” NYLON
LOCK NUT

STEP 11: Hold coupler inside upper flex arm bracket as shown
and slide coupler and upper flex arm bracket onto roll
tube extension.

- UPPER

FLEX ARM
_ / BRACKET

o O

ROLL TUBE
EXTENSION

COUPLER

1-866-748-7435 2



Upper Flex Arm Retro-Fit

STEP 12: Fasten coupler to roll tube extension with 3/8” x 2 3/4”
cap screw and nylon lock nut. Finger tighten only.

COUPLER ROLL TUBE

EXTENSION

NYLON
LOCK NUT

3/8”" x 2 3/4”
CAP SCREW

STEP 13: Fasten electric motor to upper flex arm bracket with
supplied screws.

SUPPLIED
SCREWS

ELECTRIC MOTOR

UPPER FLEX/
ARM BRACKET

P/N 1118023 Rev. C

STEP 14: Fasten electric motor shaft to coupler with 3/8” x 2
3/4” cap screw and nylon lock nut.

NYLON LOCK NUT

ELECTRIC

3/8”" x 2 3/4”
CAP SCREW

STEP 15: Tighten all motor connection bolts, shaft bolts, flange
bearing bolts, etc. securely.

STEP 16: Reconnect electric wires to motor.

ELECTRIC WIRES

3 Shur-Co® HELP LINE: 1-866-748-7435




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


